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Pk=0+000

S. DTIERRA = 1.66 m2.
S. VEGETAL = 3.08 m2.
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I
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2

Pk=0+003.867

S.DTIERRA = 1.55m2.
S. VEGETAL = 3.30 m2.

Pk=0+008.700

S.DTIERRA = 1.91 m2.
S. VEGETAL = 4.21 m2.

|
620.844

Pk=0+013.534

S. DTIERRA = 2.40 m2.
S. VEGETAL = 5.29 m2.

632

Pk=0+018.367

S.DTIERRA = 1.27 m2.
S. VEGETAL = 3.78 m2.
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628 -+ f 1 1 1

2

Pk=0+023.200

S.DTIERRA = 0.75 m2.
S. VEGETAL = 3.22 m2.

632 |
I
|
620.896

—_———

I
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2

Pk=0+025.134

S.DTIERRA = 0.71 m2.
S. VEGETAL = 3.17 m2.

CR-2

632 [

Pk=0+001.933

S. TERRAPLEN = 1.49 m2.
S. D TIERRA = 0.00 m2.

S. VEGETAL = 3.39 m2.

632 \
I
|
629.871

Pk=0+005.800
S. TERRAPLEN = 0.73 m2,

S.DTIERRA = 0.14 m2.
S. VEGETAL = 3.74 m2.

Pk=0+010.633

S. TERRAPLEN =  0.44 m2.
S. D TIERRA = 0.67 m2.
S. VEGETAL = 5.00 m2.

[
I
I
629.825

Pk=0+015.466

S. TERRAPLEN =  0.26 m2.
S. D TIERRA = 0.83 m2.
S. VEGETAL = 4.63 m2.

632 [

Pk=0+020.299

S. TERRAPLEN =  0.07 m2.
S. D TIERRA =  0.54 m2.
S. VEGETAL = 3.54 m2.
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2

Pk=0+025.132

S. D TIERRA =  0.58 m2.
S. VEGETAL = 3.22 m2.

CR-3

CR-4
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2 14 2 14
Pk=0+003.866 Pk=0+000
S.DTIERRA = 0.46 m2. S. TERRAPLEN =  0.00 m2.
S.VEGETAL =  3.39 m2. S.DTIERRA = 0.37 m2.
S.VEGETAL = 3.21 m2.
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| |
| |
620.868 629.791
p—— I S
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628 - | % | | | | | | | 628 % | | | | | |
4 14 2 14
Pk=0+007.733 Pk=0+003.867
S.DTIERRA = 1.00 m2. S. TERRAPLEN =  0.13 m2.
S.VEGETAL = 4.02 m2. S.DTIERRA = 0.29 m2.
S.VEGETAL = 3.43 m2.
632 | 632 |
| |
| |
620.845 629.830
________ — —_——— _— = [ e — —_—
| |
628 | | | % | | | | | | | 628 | % | | | | | |
14 4 14
Pk=0+012.566 Pk=0+008.700
S.DTIERRA = 1.98 m2. S. TERRAPLEN =  0.35 m2.
S.VEGETAL =  5.84 m2. S.DTIERRA = 0.57 m2.
S.VEGETAL =  4.34 m2.
632 | 632 |
| |
| |
620.842 620.845
|
628 - | | % | | | | | | | 628 |
6 14 14
Pk=0+013.532 Pk=0+013.534
S.DTIERRA = 1.91 m2. S. TERRAPLEN =  0.50 m2.
S.VEGETAL = 5.34 m2. S.DTIERRA = 0.85 m2.
S.VEGETAL = 5.43 m2.
632 | 632 |
| |
| |
629.822 620.866
| |
628 | % | | | | | | | 628 - % | | | | | |
4 14 2 14
Pk=0+017.399 Pk=0+018.367
S.DTIERRA = 1.05 m2. S. TERRAPLEN =  0.77 m2.
S. VEGETAL =  4.02 m2. S.DTIERRA = 0.19 m2.
S.VEGETAL = 3.91 m2.
632 | 632 |
| |
| |
629.781 620.878
20781
|
628 % | | | | | | | 628 % | | | | | |
2 14 2 14
Pk=0+022.232 Pk=0+025.134
S.DTIERRA = 0.91 m2. S. TERRAPLEN =  1.27 m2.
S.VEGETAL =  3.26 m2. S.VEGETAL = 3.32 m2.
632 |
|
|
629.748
628 - % | | | | | | |
2 14
Pk=0+025.132
S.DTIERRA = 1.06 m2.
S.VEGETAL = 3.14 m2.
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